Off-Road Lights

PC COVER:PC 3t

BRACKET:2.5t(SUS)

BOLT:2-M6x20 (SUS
NUT:M6 (SUS#304

55(304)

o FRONT CASE:ALUMINUM

2114
139

BOLT:M8x50 (SUS#304/NYLON)
NUT:M10 (SUSE304)

NUT:M10 (SUS#304
WASHER:#21(810)

=
|

LI : L
. f’f"‘a,\l
—-D-- 2 -
T[S

Ll

BOLT:M10x25 (sus;gsod/NYLON)

76

37 |
RECEPTACLE:DTO4-2P-EDC4 AE
TERMINAL:1060-16-0122
WEDGE:W2P

BODY:ALUMINUM o

SCREW:M4x12(4PC
POWER LEAD WIRE:96.8 @ CREW:M4x12(4PCS)

2 e g T

[SPECIFICATION]

1.0PERATING VOLTAGE : DC 10V ~ 48V
2.WATTAGE : 12V ,16.8W /1.4A

3.LED : 3W CREE

4.LUMEN : 1,197(LM) /@171(LM)

5.LENS : LLO1CR-EXXXL-M2 (10°,25°,40°,60°)
B.WEIGHT : 1.2 (Kg)

7.VIBRATION : 15.6 (Grms)

8.WEALTH PROOF & DUST RESISTANCE
9.TEMPERATURE : -40 °C ~ 80°C

10.LIFE : 50,000 (Hr)

11.IP RATING : IP68


http://www.carid.com/vision-x/
http://www.carid.com/off-road-lights.html

